EAGRAROBREERT — 2 N— IBISH —F

202155H308 (B) 3EI$=8H

IPLR (RS 3BV IX ¥5FR4mE (R

=

‘ [R1%] & ‘ [RERBE] — | & (&) 19000 B

[A~&£] 17 :18,200,000 § ~ 2 & :7,300,000 B

&) (56 =&
3 # 4,600,000 3

4 7% 12,700,000 5 7 :1,820,000 H

& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
S, e o 4 5 | BHEZ 1:59.3 15-13-12-11| 37.7 | 103.7 | 3 524 | SEHA— (ER)
1@ 4| > rv>/¥>7—n~ [B] 57.0 s o | B e Ty sox 2y
RIVINA T A—H— B v TI— b TADAS
S s 7 | TR 1:59.3 8-8-10-8 |37.9|103.8| 12 | 506 |HAKkEX (ER)
2 9| ¥ 1avdHal 55.0 (NF) o) |BAITIE
L ZZHh<R By o73IUA e
S i o4 | FRE 1:59.4 5-5-4-3 | 38.9103.3| 2 472 | #AKEE (ER)
32 A4 a94T 57.0 (4 €) (-4) VAK;K
L:hTotE2 R BIIXATINRET— FREH S
SN 4 5 | BERIEX 1:59.8 1-1-1-1 | 39.6 | 100.2 | 5 492 | EERE— (FH)
41111 B8=KUN=HL 57.0 ® o) | ) B-FAx-2557
L:N—=Y754 B:I)LFT7 O TATAT7—1L
SRS & HEREH :59. ~7-7- . . EEE (EX)
5010 |®@747LLY R [B] 58 [ty IS 386198 8 ig? ) 75 K
LNnN—=v934 BTV I3 K VDAY ¢ ]
S Y, o4 | BBRE 2:00.0 10-8-7-6 [ 38.8| 98.1 | 6 468 | FEEH (KH)
6|50 F¥77>—=YIl 55.0 A 1/4) (ha) | EEEE
Z:rn7x B:XFNF EBRT7—L
N . > 4 | HHEAK 2:00.3 11-11-12-15( 38.7 | 95.5 | 4 476 | EEFIE— ()
71815 '7/{7’)(/|\ [B] g 57.0 (1 1/2) 2) () #BL—RFK—X
RFLTHANXIN B TI— L HET 7 — LI
S, 45 o7 | BRR 2:00.3 8-11-11-11 [ 38.8 | 95.5 | 9 478 | BUIAE (FH)
8 7|7>8-—%2R 5.0 (zE) (-6) | HLAHER
R:2v—hr77)a> B:O-T543I— BH =
. . BEFHEI—BR :00. ~5-7- . . #ILEA (EX)
9 6l @A/ yFT i) Br 2(10/02>4 5-5-7-8 |39.2| 94.8 | 7 (52:3) bvics
LNZ—k1—X B:h—vEIY— aE BE
N . 2 4 | RERS 2:00.5 11-13-15-14| 38.7 | 93.7 | 10 | 452 |BEHEZ (%)
N > FIEREE LS ~ % 5700 (1/2) (1) | ANEEE
RiFkvvH/xwF BiEY REHUT ARG
AV > 5 | dEFE 2:00.6 2-2-2-2 | 40.4| 94.1 | 16 | 488 |FBR (BR)
11713 %/ >7 ) x5~ [B] A (1/2) 2 | @) /902
R:A—-KH+A7 B 774 TX&— HET7—L
SRS 3 4t 5 | AEER 2:00.9 3-3-5-5 |40.3| 91.6 | 15 | 516 |EZFES (RR)
121816/ LY K¥IVT 7 —F 55.0 @) 4 ) ERA—ZL—Soy
R:A—FHFa7 B:YN—Txy T2 J—H Ty — I
R e & o7 | ESEE 2:01.0 15-16-16-15| 39.0 | 89.5 | 14 | 520 |#&IHI— (E®)
Eﬂ g|®YrI=X 57.0 (1/2) (o) |ZAAYL—2E-Z ()
LF= K72 BNy el Tie]
PR SEN N 4 6 | WHBEE 2:01.0 14-13-12-11{ 39.4 | 89.9 | 11 510 | #ikA=— (%)
141714l T1¥a>xT T 57.0 NF) +2) XigF—
L:xoindd— BRNARTa—Fv— 1ERESS
. st 4 | BEAXE 2:01.2 11-8-3-3 [40.8 | 89.7 | 1 558 | EEEFIERE (BRR)
5B 5| N XTI 57.0 o o | ) =i
R:xF BiSuiahyE— e
s S o —2 4% 5 | EHB 2:02.9 3-3-6-6 |42.1| 78.2 | 13 494 | EEHMF (ER)
16 11| 1/ t~r32—-2X 55.0 10 ) | ) HEL=xE-2
T4 7 hT—IEY BTATLTT1T HBTr—L
@ 71 L
) 51.1-39.1
NA>Z4 L | 7.5-10.7-12.0-13.6-12.6-11.8-12.0-12.8-13.1-13.2
® I —F—EBIERL
13—F+— | 1,13(11,16) (2,6,12) (7,9)10(3,5,15)-14(4,8)
2a=5= 1,13(11,16) (6,12)2(9,10,5) (7,15) (3,4,14)8
Fol=5r= (x1,13)5,12,16,11-(2,6,10)9,7(4,15,14)3,8
40—F+— 1,13(12,5)16(11,10) (2,6,9) (7,4,14)3(15,8)
[ N3
B O 4 620M 714K 4-9 4,410 ) 2-5 3,310H 3JEHE 4-9-12 25,060
BB 4 200M 4-12 630 B = 4-9 17,080 3EE 4-9-12 184,870M
9 1,120 9-12 3,210 | | B H 4-9 27,070M
12 210H

ARICOVWTRDTEEERROODE. TR LIV,




